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it Ym'5 M ICAF exlom WK
format rat

a=[1,-2,-1,0,2;-2,4,2,6,-6;2,-1,0,2,3;3,3,3,3,4];
b=rref(a)
kA3
b=1 0 1/3 0 16/3
0o 1 2/3 0 -1/9
0 0 0 1 -1/3
0 0 0 0 0
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a, =§al+§a2, Os =?al —5052 —§a4.
2 2 -1 1 4
#l2 #A=[a,a,,a,]=| 2 -1 2|, B=[b,b,]=| 0 3|,
-1 2 2 -4 2

Wi ay,a,,a, & R L, JHE by, b, XA RS o

it S M S ex2.m U1F
format rat
a=[2,2,-1;2,-1,2;-1,2,2];b=[1,4;0,3;-4,2];
c=rref([a,b])
KAT
c= 1 0 0 2/3  4/3

0 1 0 -2/3 1

0 0 1 -1 2/3
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B3 Sk FATTREA
2%, + X, —9X; + X, =8
X, —3X, —6X, =9
2X, — X3 +2X, =-5
X, +4X, = TX; +6x, =0
fit g5 M 3P ex3.m fih

format rat

a=[2,1,-5,1;1,-3,0,-6;0,2,-1,2;1,4,-7,6];

b=[8;9;-5;0];
solution=a\b
k43 solution=[3 -4

Bl 4 SKie e

2%, +4x, =11

S

3X, —5X, =3
X +2X,=6

2%, + X, =7

ik 9’5 M SCAF exd.m Wi R

a=[2,4;3,-5;1,2;2,1];
b=[11;3:6;7];
solution=a\b

k43 solution=[ 3.0403

B15 kg4

it Ya'5 M S ex5om WIF:

format rat

a=[1,-1,-1,1,0;1,-1,1,-3,1;1,-1,-2,3,-1/2];

b=rref(a)

b=1 -1 0 -1
0 0o 1 -2
0 0 0 0
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1
x1=x2+x4+§

x3=2x4+1

1.2418]'

X, =X, = X3 + X, =0,
X, — X, + X3 —3X, =1,

Xp =X, =2X; + X, =—

1/2
1/2

0

2
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7 Matlab HP G EEAT 5 0 SR A B AR B IR AR AL, AN R 2045508 X
BREL symo I I/ 2845 FH b R BB 2 7555 e B0 LA E A

3.1 AR sym BRECE BT 5 HEFE

I VA A B B B 732 LT 58 AR IRl o R PRG35 T LLE R 5 ik, %
P RIR AL T LAANIE], R TG 3R 2 [A]] 20 o B 5 40 B

i
x=sym("[a+sin(d),b;1/c,d]");
y=det(x)

K15 y=(d*c*a+dkcksin(d)-b)/c

3.2 B HUEF PR A R 755 5

7t Matlab ', B MEAREES SR 518H, LIRS,

i

a=[2/3, sqrt (2) ;3, 1]

a= 0. 6667 1. 4142

3. 0000 1. 0000

b=sym(a)
b=[ 2/3, sqrt(2)]
[ 3 1]

3.3 RSP S AME
Matlab IIFF5 52 5 RS SR B AR I R 5 TAME g e ]
e Xk BRI b BT
b(2,2)="1og(9)’
3.4 4
Bl 6 SK—AIERZLAH X =Py, kM
f=2X,X, +2X, X3 — 2X, X, — 2X, X5 + 2X, X, + 2X5X,

WNFRHETE .

i URERORERE
o 1 1 -1
1 0 -1 1

A:

1 -1 0 1
-11 1 0

t

A=[0,1,1,-1;1,0,-1,1;1,-1,0,1;-1,1,1,0];
[P.D]=eig(A)
R1F
P= 0. 7887 0.2113 0.5000 -0. 2887
0.2113 0.7887  —0.5000 0. 2887
0.5774 -0.5774 -0.5000 0. 2887

0 0 0. 5000 0. 8660
D= 1.0000 0 0 0
0 1.0000 0 0
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0 0 -3.0000 0
0 0 0 1. 0000

P EFTRIOIEHBE, M4 PAP-D, & X =PY, £ X =[x - x].
Y=y, v R TR g =y +y; -3y + Y.

ETSRAT TEACHRE P REHCR, R T RA TR E AR R R

n
a=sym(*[0,1,1,-1;1,0,-1,1;1,-1,0,1;-1,1,1,0]");
[v.d]l=eig(a)

KA

v=[ 1, -1, 1, 1] d=[ 1, 0, 0, 0]
[ 1, 0 o0, —-1] [ 0o, 1, 0, 0]
[ o o0 1, —-1] [ 0, 0, 1, O]
[ o 1, 0, 1] [ 0, 0, 0, -3]
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